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mgﬂuﬁor’npany with 10 emplovees uses a single LAN to share mlormation between computers. Which type of
connection to the Internet would be appropriate for this company”?

. a dialup connection that is supplied by their local telephone service provider
Virtual Private Networks that would enable the company to connect easily and securely with employees
private dedicated lines through their local service provider
a broadband service, such as DSL, through their local service provider

QUESTION 2
Which statement describes a characteristic of a WAN?

A WAN operates within the same geographic scope of a LAN, but has serial links.
WAN networks are owned by service providers.

All serial links are considered WAN connections

A WAN provides end-user network connectivity to the campus backbone

oo m >

QUESTION 3
Which connectivity method would be best for a corporate employee who works from home two days a week

but needs secure access to internal corporate databases?

cable
DSL
VPN
WIMAX

o>

QUESIION 4 %
What can cause a reduction in available bandwidth on a cable broadband connection ?

A smaller cells

B. number of subscribers

C CIR. .
D Internet Speed

QUESTION 5
A corporation is looking for a solution to connect multiple, newly established remote branch offices. Which

consideration is important when selecting a private WAN connection rather than a public WAN connection?

A Cost

8. CIR/MIR

C. Security during transfer
D. web browsing

QUESTION 6
Which WAN technology establishes a dedicated point-lo-point connection between two sites ?
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UESTION 7 i
‘Which Part of the PPP protocol communicates with different network layer proloco

157

A. by negotiating with the network layer protocol

B. by encoding the information field in the PPP frame

C. by specifying the protocol during link establishment through LCP
D. by using NCPs

QUESTION 8 N ,
When configuring Multilink PPP, where is the IP address for the multilink bundle configured?

A. on a physical serial interface
B. on a subinterface 4
C. on a multilink interface

D. on a Tunnel interface

]

QUESTION 9 : 1
Refer to the exhibit. |
A network administrator is configuring the PPP link between the two routers. However. the PPP link cannot be
established. Based on the partial output of the show running-config command, what is the cause of the

problem?

Case Study Title (Case Study):

ISE(3onfan; s

S Floind Show raning-confiyg
L]

<output cmitted:>
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. The usernames do not match
The passwords do not match.
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s should be longer than 8 characlers
ace IP addresses are in different subnets

ESTION 10 ,
ow much total bandwidth is provided by a E1 line?

A 2Mbps ;
B 1544 Mbps
C 64 kbps

D. 43.736 Mbps

QUESTION 11
What are three components of PPP? (Choose three.) ?

A. PPPoE

B authorization

C. LCP

D. parallel communications
E. NCP

F. HDLC-like framing
QUESTION 12

Which range represents all the IP addresses that are affected when network 10. 120.160.0 with a wildcard mask
of 0.0.7.255 is used in an ACE?

10.120.160.0 to 10.127.255.255
10.120.160.0 to 10.120.167.255

10.120.160.0 to 10.120.168.0

10.120.160.0 to 10.120.191.255 ‘

oo w >

QUESTION 13
Which range represents all the IP addresses that are affected when network 10.120.1.0 with a wildcard mask of

0.0.3.255is used in an ACE? :

10.120.160.0 to 10.120.191.255
10.120.0.0 to 10.120.3.255
10.120.0.0 t0 10.120.7.255
'10.120.1.0 10 10.120.3 255

OO w>

QUESTION 14
What two functions describe uses of an access control list? (Choose Three.)

. ACLs assist the router in determining the best path to a déstination
+:B. ACLs provide a basic level of security for network access.
C. ACLs can control which areas a host can access on a network
. ACLs can permit or deny traffic based upon the MAC address originating on the rowter.
ACLs can be used to define a range of hosts who can access Internet
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trator is configuring an ACL to limit the connection to 21 vty lines 1o only
clw 'K 192.168.24.0/28. The administrator verifies the successful Telnet

mth IP 192.168.24.5 to R1 before the ACL i1s appliedR. However, after the ACL
Telnet connections are denied. What is the cause of the connection failure?

=0 B SEE |, 20 Hits & LG O 0 0,289
=3 NP A6g 22, O O 1.5 720 0 B0 c
3 Y ANy B
sty
Bassy
SEEESS-—cicss i
e
B -t S e e 00
Bectress G.0. 10 255,25
No sihmtdovm
#ecesss—group 120 in ’

@ wrong port number
vord is not configured on R1
cluded in the permit statement and matched |

Dy deny any
- protocol ip instead of tcp.

ss of 10.0.70.23/25 needs to have access to the corporate FTP
server that is accessible to all internal employees on
be allowed to this server Which extende

e
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host 10.0.70.23 host 10.0.54.5
p any host 10.0.54.5 eq www

t ip any any

it tcp host 10.0.54.5 any eq wvew
ermit tcp host 10.0.70.23 host 10.0.54.
yermit tcp host 10.0.70.23 hest 10.0 54.
BpErmit tcp host 10.0.70.23 host 10.0.54
ppermit tcp host 10.0.70.23 host 10 0.54 5 eq 21

P ICR 10:0.0.0 0.255.255.255 nhost 10.0 54 5 eq www
deny ip any host 10.0.54.5

permit ip any any

terface gi0/0

)# ip access-group 105 in

interface gi0/0

# ip access-group 105 oul

# interface s0/0/0

if)# ip access-group 105 out

eq 20
g2

RTAL

o Y N
(41
0
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iStor s designing an ACL. The networks 192.168.1.0/25, 182.168.0.0/25, 192.168.0.128/25
,and 192.168.1.192/26 are affected by the ACL. Which wildcard mask if any, is the most
i specifying all of these networks in a single ACL permit entry~

',ues are included when creating an extended access control ist entry? (Choose
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ator x'«}rsaxbr’f‘én IPv4 extended ACL? (Choo:

which 1s listening to default ports?

S-list 110 deny tcp any any gt 443
ist 110 deny tcp any any gt 75

that'is going from the destination IP address into the router
ifemwhich the router can find no routing table entry

N 23
lanks. Use dotted decimal format
d'mask that is associated with the network 192 168 12 0/29 s

used by a PAT-enabled router to send incoming packets to the correct inside hosts?

on TCP or UDP port number on the incoming packet

P address on the incoming packet

UDP port number on the incoming packet

source TCP or UDP port number and the destination IP address on the
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itage of using PPP on a serial link instead of HDLC?

hentication
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[ator Is configuring a static NAT on the border router for a web server located in the DMZ
SEnver is configured to listen on TCP port 8080. The web server is paired with the internal IP
85125 and the external IP address of 209.165.200 230 For easy access by hosts on the
BISers do not need to specify the port when visiting the web server Which command will

> NAT?

EEEBInSIde source static tcp 192.168.5.25 80 209.165
Sipnatinside source static tcp 192.168.5 25 8080 209 165 2(
EEABIASIdE source static tcp 209.165 200.230 80 192

BipRNERinSide source static tcp 209.165.200.230 8080 192 168.5.25 80
iRBased on the output that s shown, what type of NAT has beer implemented?
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alt rthe checksum of the [Pv4 packets
sts can be S|gn!flcant for a publicly address«-d network

f a Cisco broadband router?

ise Study):

FastEthernet (.U
BN 10.1 255.255.255.0

FastEthernet U1
s dhecp
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209.165.200.254

:

Internet ERTA Y

Side source static 192.168.10.2 205.165 2017
ce Fa0n

EERIIZ2N165.10.259 255.255.245 .0

inside

ce Serialf/0
RIIEESRANG 04 200,225 2495 245 248, 171 .

< ot

ld be identified as the outside NAT interface
nt is incorrect.
ould be identified as the outside NAT interface

| be identified as the outside NAT interface

SL connection that s located at the customer site?

to lower operating costs?
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anent VPN connection to one of its parts supphers

necting to the company network via the [nternet connection at a hotel

ing from home uses VPN client software on a laptop in oraer to connect to the

ised to create a VPN connection to the
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vide a VPN between site A and site B 1o suj { 0sulation of any Layer 3 protocol
‘networks at each site”

Tunnel

o Internet j SiteB

CCNAS.COM

Scanned by CamScanner



ed technology to use over a public WAN infrastructure when a branch office i1s
te site?

| describes a VWAN?

ts LANs over long distances

utility that enables access to the Internet

ne for the Internet.

at is extended to provide secure remote network access
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nfigure, and test the data-link connection

-"fdr‘mat options such as authentication. compression and error detection

i by Multilink PPP?

ss multiple physical WAN links

h of a single link into separate time slots

multiple VLANS to travel over a single Layer 2 link

gilink between two LAN switches via the use of multiple physical linke

ineeded when a digital leased line is used (0 provide a .
=doCU IITIE IS USEU L0 proviae a connection betwe .y i’
2 (Choose two ) 1 between the customer

technology over circuit-switched technology?

2 to jitter than circuit-switched networks are.
le a service provider network
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net s usually done in the edge devices like (choose two)
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